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M.A. (Second Semester)
EXAMINATION, May - June, 2022

Economics
Paper Second

(Macro Economics)

Time : Three Hours] [Maximum Marks:80



Note : Attempt all the sections as directed.



(Section - A)


(Objective/Multiple Choice Questions)

(1 mark each)


Note : Attempt all questions. Choose the correct
answer.

P.T.O.
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1. 

(A)   

(B)   

(C)   

(D) 

What is stagflation?

(A) Inflation with growth

(B) Deflation with growth

(C) Inflation with deflation

(D) None of the above

2.  

(A) 

(B)  

(C)  

(D) 

Balanced Budget is part of -

(A) Income policy

(B) Fiscal policy

(C) Monetary policy

(D) Labour policy
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3.     

(A) 

(B) 

(C) 

(D) 

Who introduced kinked philips curve?

(A) Keynes

(B) Friedman

(C) Tolin

(D) Bamoul

4. 

(A) 

(B) 

(C) 

(D) 

Who introduced full and semi inflation?

(A) Marshal

(B) Keynes

(C) Lerner

(D) Nurkse
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5.    

(A) 

(B) 

(C) 

(D) 

Who Introduced innovation theory of trade cycle ?

(A) Kaldore

(B) Hicks

(C) Samuelson

(D) Schumpter

6. 

(A)  

(B) 

(C)   

(D)   

Samuelson trade cycle is based on-

(A) Income and saving

(B) MPC

(C) Multiplier and investment

(D) Multiplier and accelerator
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7. 

(A) 

(B) 

(C)  

(D) 

When cost push inflation origin?

(A) Increase in production cost

(B) Increase in opportunity cost

(C) Increase in Advertisement cost

(D) None of the above

8. 

(A)    

(B) 

(C)  

(D) 

What is explained by phillips curve?

(A) Wage rate and Inflation

(B) Unemployment and wage rate

(C) Unemployment and Inflation

(D) All of the above

P.T.O.
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9. 

(A) U

(B) V

(C) 

(D) 

Shape of Loffer Curve is-

(A) U shaped

(B) V shaped

(C)  shaped

(D) All of the above

10.   

(A) 

(B) 

(C) 

(D) 

Who discovered Kitchin cycle?

(A) Jaglar

(B) Kitchin

(C) Kondratieff

(D) None of the above
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11. IS

(A)  

(B)  

(C)  

(D)  

IS curve explains :-

(A) Money market

(B) Credit market

(C) Real market

(D) Income market

12. LM

(A) 

(B) 

(C) 

(D) 

When supply of money is increased LM curve is shifted-

(A) Left side

(B) Right side

(C) Uncertain

(D) All of the above

P.T.O.
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13. 

(A) IS

(B) LM

(C) IS-LM

(D) 

By Fiscal extension which curve is changed?

(A) IS

(B) LM

(C) IS-LM

(D) All of the above

14. IS

(A)  

(B)  

(C) 

(D)  

When IS curve is less elastic, Monetary policy will be-

(A) Less effective

(B) More effective

(C) Effectiveless

(D) Full effective
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15. 

(A) 

(B) 

(C) 

(D) 

Which policy is effective in inflation-

(A) Monetary

(B) Fiscal

(C) Credit

(D) Lobour policy

16. IS

(A)  

(B)  

(C) 

(D)  

When IS curve slope is more, then elasticity is -

(A) More elastic

(B) Less elastic

(C) Full elastic

(D) Full inelastic

P.T.O.
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17. LM

(A)  

(B)  

(C)  

(D) 

When LM curve is verticle, Monetary policy is -

(A) Less effective

(B) More effective

(C) Full effective

(D) Effectiveless

18. 

(A) 

(B) 

(C) 

(D) 

"Trade cycle is dance of Dollar", who said -

(A) Fisher

(B) Ricardo

(C) Hicks

(D) Keynes
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19.  

(A)  

(B)   

(C) 

(D) 

Functions of Central bank is -:

(A) Regulator of money

(B) Bankers of bank

(C) Management of  foreign exchange reserve

(D) All of the above

20.     

(A)  

(B) 

(C)  

(D)  

Choose wrong answer-

(A) Open account in Central bank

(B) Open account in State bank

(C) Open account in Allahabad bank

(D) Open account in Reserve Bank of India

P.T.O.
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

Section - B



(Very Short Answer Type Questions)

(2 marks each)

 

Note : Attempt all questions in two or three sentences.

1. 

Define demand push inflation.

2.     

Write name of phases of trade cycle.

3.  

Write objective of monetary policy.

4.    

Define fiscal policy.

5. 

What is builidng cycle?

6. 

Explain relation between wage rate and unemployment.
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7. IS

What do you meant by IS curve?

8.     

Define Commercial bank.



Section - C



(Short Answer Type Questions)

(3 marks each)



Note: Attempt all questions. Answer each questions in
75 words.

1. LM

Define LM curve.

2.     

Explain long term phillips curve.

3. 

What is  Inflationary Gap?

P.T.O.
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4.     

Explain characteristics of trade cycle.

5.   

Discuss Natural rate of unemployment.

6.  

Write instrument of monetary policy.

7. 

What do you mean by Bankers of bank?

8.  

Write instruments of fiscal policy.



Section - D

 

(Long Answer Type Questions)

(5 marks each)




Note: Attempt all questions. Answer each question in
maximum 150 words.
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1.   ?       
?

What is inflation? Analyse the factors of origin inflations.

OR

    
??

How does inflation effect the process of economic
growth? Is it a by product of economic growth.

2.     

Describe the Hicks trade cycle theory.

OR


 

How does the phillips curve explain the trade off be-
tween unemployment and inflation? Explain.

3. 
  

Fiscal and monetary policies are not alternative but are
complementary to each other. Discuss.

OR

ISLM
 

P.T.O.
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Discuss monetary and fiscal policies in the form of IS-
LM curve.

4.       

Describe the function of commercial banks.

OR

      

Discuss the functions of Reserve Bank of India.


